
µ

( ∞∑
i=1

Bi

)
= µ

(⋃
n∈N

An

)Vor.y
= lim

n→∞
µ (An)

= lim
n→∞

µ

(
n∑

i=1

Bi

)
=x

µ ist Inhalt

lim
n→∞

n∑
i=1

µ (Bi) =

∞∑
i=1

µ (Bi)

#
a) ⇒ c): (⇔ b) ⇒ c) )
Seien A1, A2, . . . ∈ R antiton mit

⋂
i∈N

Ai ∈ R und µ (A1) < ∞.

Setze Bn := An \An+1 ∈ R.

⋂
i∈N

Ai

A1

A2

A3

A4

B1-Ring

B3-Ring

Dann gilt:

B1, B2, . . . p.d. und
n∑

i=1

Bi = A1 \A2 ∪ A2 \A3 ∪ · · · ∪ An \An+1

= A1 \An+1 = A1 \
n+1⋂
i=1

Ai

⇒
∞∑
i=1

Bi = A1 \
∞⋂
i=1

Ai

Begr.: „⊆“ klar 3⃝
„⊇“ Sei ω ∈ A1 \

∞⋂
i=1

Ai ⇒ ω ∈ A1 ∩
( ∞⋃

i=1

Ai
C

)
⇒ ∃n : ω ∈ A1 ∧ ω ∈ AC

n

⇒ ∃n : ω ∈ A1 ∩AC
n = A1 \An ⇒ ω ∈

n−1∑
i=1

Bi

⇒ µ

( ∞∑
i=1

Bi

)
= µ

(
A1 \

∞⋂
i=1

Ai

)
=x

µ(A1)<∞

µ (A1)− µ

( ∞⋂
i=1

Ai

)
Es folgt:

µ

( ∞⋂
i=1

Ai

)
= µ (A1)− µ

( ∞∑
i=1

Bi

)

=
↑

µ ist Prämaß
µ (A1)−

∞∑
i=1

µ (Bi)

= µ (A1)−
∞∑
i=1

(
µ (Ai)− µ (Ai+1)

)
=
↑

Teleskopsumme
µ (A1)− µ (A1) + lim

n→∞
µ (An) #

c) ⇔ d):
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